=
<

5 F =
E: D B
g E = L
= E: 3
& - o 107
Q — E
5 T °
1072 [
L 10—25_
10’35—
| o 10—l el el b
-+ . E E . 4 .
-‘-oi,_o- B P OUELT D — 1-— ------ 4 ol AU RUEEEEEH S SR
: : 0.95L '
107 1 107 1

2 3 2 3
TPlpg)T (PCA t%obeamlinélf) TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__CMSSW_ckf__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mKFitOriginal__RECO

= =
= 1]
5 5]
2 =
= =
< -
> o
=2 =2
3 ©

1072E

toRb—lil L

.

0.95 :
10 1

2 3
TPlp?T (PCA tjbobeamliné'f)

o p/p.)

_ bl
0 10%} :
el . :
5] C 1 :
14 r 1 LU (4 411
h=----- +1 ke e ASY ESSER s o EEEEE R
I + TIT (]
[ +
0.95 *
1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


